Gasparillo Hindu School
Standard Three
Mathematics

This paper consists of 12 questions. Answer each question on the line

provided. You have one attempt. When vou have completed the test click

FINISH.

No. Item

L
Write in words the number for:

I. 1010 = (1 mrk)
II. 5309 = (1 mrk)
2
State the value of the underlined digit:
. 4740= (1 mrk)
Il.  2893= (1 mrk)
25
Write the numeral for each of the following:
I. 3000+200+80+5= (1 mrk)
II. 4000+40+0= (1 mrk)
4.

many cookies did he buy in all?

Answer:

At a bakery, cookies are sold in packs of 24. Justin bought 78 packs. How

( 2 marks)
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Tom sells bananas and tomatoes. Bananas cost $89.00 per bag and
tomatoes $56.00 per bag. He sells 32 bags of bananas and 45 bags of
tomatoes. How much money did he make in total?

Answer: (3 marks)

Calculate the product of the following:

1. 23 x 98 = Answer: (2 marks)

2. 276 x 46 = Answer: (2 marks)

At a fundraiser, Joe purchased 50 boxes of food each costing $25.00. He

paid with $1 300. 00.

A. What was the cost of 50 boxes? (2 marks)

Answer:

B. Since he paid with $1,300.00 what was his change? (2 marks)

Answer:;
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8. | Select the number in which the numeral 7 has the greatest value?
5176 9837 9781 7512
Answer:
( 2 marks)
9. | School A has 586 children. School B has 29 more children than school A.
How many children are there in both schools?
Answer:
( 3 marks )
10.
78 x96 =?
Select the correct answer below: (2 marks)
I. 7,082
I. 7,020
1. 488
IV. 7,488

11.

A. Round the number below to the nearest hundred:

1574

Answer: (1 mark)

B. Round the following number to the nearest ten.

1359

Answer: (1 mark)
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12,

There are 52 pupils in a mathematics class who each has a pack of
markers. If each pack holds 34 markers, how many markers are there in

all?

Answer: (2 marks)
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